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And this is which you shall not eat; to include the Sh’chutoh

Overview

1M ' cited a Xn»12 as proof that the oK of ¥11¥n 1193 begins mwnw nywn.! The
Xn>>12 (also) stated that we derive the nuInw MOX from the P09 of &Y WK N
1%o8n.2 Our 'o1n explains how this indicates X377 110°X as well as 79798 MOX.

mooIn asks
= 1159 NI ANIN NUIN NI TN 99NN ON)

And if you will say; according to this Xin who derives the MoK of ¥yxn 79X

from this P05 of 12o8N XY WK 111, how does he know ;837 99098 by »"X -
= ININ TDIN YNRWN KD IDINN KD 9INT 319PINT NN

According to 7°p11 who rules that Y9580 X% does not indicate 718377 210K ?!

nB0IN answers:
= SHMON NNDIYN N “DNON NVINY NN NVINYN HNTIYN TDIN 2919)T 91219 U

And one can say that we derive the 990X of the nr?>yw», from the 7w, just as

the UMY is TOK, so too is the 770K N -
1IN 7Y XY DNNT NID NI HNDIVNT NOIN)

And this 210°% of the n®w» can only be an 7827 70K, for when it is alive (as
the nn21wn is) an 79998 718K is not applicable, so it must be an X317 MNOK.°

Summary
We can derive nX31 M0°R by the n"¥ since the nrown is 0*nn 770K; that MOX can

only be X177 MON.

' It seems from the entire X737 n°20 that *"1 does not subscribe to the Xn™12 of the > *27 Xan which derives the
¥R 9% NO°R from ¥"V.

22,7 (A87) 21T

3 There is a dispute in 2,83 47 2°05 whether (121 12380 XY) 99XN X? means 7RIT MoK also (the view of 112X ") or
whether it means only 7928 10X (the view of 7°p1n). If we maintain both like the Xin of this Xn>>92 (that n"x 10X is
derived from 12oxn &) and like 7°p1m that 12380 X2 means only 77°28 M0°X, how do we derive that »"X are X372 7708
(which the Rin of our 7w»n maintains; so that one cannot be wipn with n"¥ because they are X172 110K). See
‘Thinking it over # 1.

4 We derive this from the P105 of ALIIWA NX N127% 17280 XY WK 7N, See ‘Thinking it over’ # 2.

5> See previous nywn 7"7 '01n (TIE footnote # 2 & 3). The nn7wn (the bird which is not vnws, but sent away) becomes
7MW NYWwn MOXR until it is sent away.

6 Presumably just as we derive i wn MO from auInw, we also derive AuInw from NA?wan, just as the NA9WR is MOR
TR, so too the TvINW is also 7RI MOR. See ‘Thinking it over’ # 3.

1
TosfosInEnglish.com



am a7 'on R e TR L7002

Thinking it over

1. mooin asks his question according to pm.” However, the question can also be
asked according to 172X " for granted that 1958n &% generally includes 7RI MOK,
however here we are deriving the [7X177] 90°K by n"¥ from o°&nv 0°719%, and the X9
19580, which is written by o°Riav 2> does not include 7RI MO°R, for XNV DIOY
are 18172 INM!E

2. Why does mp01n assume that we can derive nn?wn from 7unw (and 7w from
nnwn);” seemingly the Xin of this Xn>a cites two 2’109, one for N2Wwn N> and
the other for 70N MOX, to distinguish between the two?!!°

3. We are deriving the nownw from the nrwn, that just as the nAown is 770K
X112, so too the 7vINW is X172 7OK.!! Since we are already deriving the muinw
from the nnWwn let us also derive that just as the n?wWwn is 0°nn 770K, so too the
" should be o»nn 770K, and not only AL AW XY (as 1371 ' maintains)?! 2

7 See footnote # 3

8 See Tmbni wnon XX # 136.

® See footnote # 6. "W (seemingly) does not subscribe to this. See nywn 17" 7n TIE footnote # 4.
10 See 71"n 7" VA NIWA.

1 See footnote # 6.

12 See (17x7) X"wmn.
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